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Design ;f Anéh(ir _'Platé

(1) Location of Instaliatién.-
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40 1 - (Dredged coral)
L=h cot £t h, cot 5P o
#50xc0t601°+257xcot224
= 9,11 '-_-——-«-—ar 9.5 m
(2) Height 6f Anchor Plate
b ,6’ 0, therefore, Ka cosg - 0.35, Kp cosé‘ “3.72
_ +2.SO = 0.35 2
Pa,, 13 = 0.35 X (1.00 + 1,70 x 0.37) = 0.57 tf/u
Pa,; 53 = 0.35 % (1,00 + 1,70 x 1.17) = 1.05 tf/m
Pa_y o, = 0.35 % (1.00 + 1.70 x 1.17 + 0.80 x 1.40) = 1.44 tE/n’
PD,, 13 = 3.72 % (1.70 x 0.37) | = 2.34 tf/m’
PDyp.33 = 372 % (170 x 1.17) = 7.40 tf/m°
- Pp_o w” 3.72 % (1.70 x 1.17 4 0.80 x 1.40) <11.60 £f/m-
A 4 30 ti/m

' E"‘i—-"'l’f.z t£/m
p . ittt /m
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w+2.50
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B/ (R +E, )
17.2/(4.3042.39)
2.57 > 2.50

i

{3) Section of Anchor Plate

M, = TL/12 " {Horizontal max. bending mement )
Mr = TO/BL (Vertical max. bending moment per 1 meter of quay. wall length)
T = 6.88 tf/m ' SR '
L=1.60m
D= 2.20m
Therefore, _
M, = (6.88x2.20)/12 = 0.92 tfm
Mr = (6.88x2.20)/(8x1.6) = 1.18 tfm/m
Horizontal Vertical

M 0.92 tfm S 1.18 tfm
B 2 x H =100 cm | 100 am
H 50 ¢cm 50 cm
a 40 cm 40 am : : | _
As DL @300 = 2,375 au’/m D10 @300 = 2.375 cm>/n  Welded steel net

b : (NK high mesh)

B=2x50 o I
=100cm D= ‘ - | H=50am -
o 40amt——1s o o o n";__:__ a '
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1 i ‘ B=100Cm J
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HOriébntal' _ : Vertical
fer 1,010 kgf/cm S 1,300 kgf/cm
rd 10 kgf/cm k 12 kgf/cm

(In case of the Sheet Pile)
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53011 condltmn of loose sand

r, = =1, '70 tf/m
r' =.0.80
. ¢ = 259
N = 5 (Assume)
| E = 28N = 140 kgf/cm®
fherefore, k= 1/3 x 0.2 x;140 x 100734 > Fig 4-22 (p.58)
-0 = 0.30 kgf/cm 0.6 ~ 1.0
= SkgZmr
| ‘B =100cm
E = 2.1 x 10° kt_:;i:'/c:m2
| I = 16,400 cm4/m-(SP Type-TID)
: 'I‘herefore, : .
= 4/(0.30x100)/(4x2.1x10%%16,400) = 0.00384 cu™ = 0,380

.Im =T/p = 1‘C/038—827m
._'1m1/3-276m S S

= h; cos fot Iml/3 cosgp
3a3m5601°+276cot224°
2,02 +6.700 . S
8.72 m < __9._5{) ‘m -
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Length of embedding o o e
L= LO - 0.,5=5.0~-0,5=4.50m < Irg, = 8.27 m

Therefore,

Same as for anchor plate because of short plle. -

Herein, short pile between anchorlng p051t10n and the pclnt of 1“1/2

= 4.14m shall be neglected.

2+2.50
_ N 2
4,24 .77 N\7+1.83 g
+1.33 0:08e—=r &
- F7A0 A
d S
Ep 1~ Ea 99
_ s
19.7 v=2.81
Pa = 0.35 tf/md
+2.50 ’ _ -
Pa,; gq = 0.35 x (1.0 + 1.70 x 0.67) = 0 75 tf/m
Pa, ) 33 = 0.35 x (1.0 + 1. 70 x 1.17) = 1. 05 tf/m
Pa_, o1 = 0.35 x (1.0 + 1.70 x 1.17 + 0.8 x - 4.14) = 2.21 tf/m
PPy .5 = 0
PD,y gy = 3.72 x (1.70 x 0.67) = 4.24 tf/m
PPy 33 = 3.72 x (1.70 x 1.17) o = 7.40 tf/m
Pp_o gy = 3:72 X (1.70 x 1.17 + 0.8 x 4. 14) =19.70 tf/m?
RA = 4,30 tf/m
Fa= 7.20 tf/m
Ep= 59.0 tf/m .
Therefore,

F= 59.0/(4¢3o+7,2o> = 5.13 > Fg = 2.50
Against MH' wale can resist as the front sheet plle. o

Mr = TD/BL = (6. 88x4 64)/(8xl 6) = 2.49 tﬁnﬁn
= W/ = (2. 49310 3/1,310 = 190 kgf/bm
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